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F: TRUBT2AERABR RABERSEELAORELTRL K.

6. i fRFN4 R

MM RN EE A RENEEF S, B S S
OB AN BORE T %07 R Y B B0 PR RE Qi O 7 7 ) R

— R MRS FTREAOBRBALRTA Y = o(x.cihc,0) s it oo,
e e, JE LA R R

T T 5E 80 R 1 B R PR R B 0 7 R A R L B SR R AR SR .

— A RS FRBOVMBESETRD y(x) = 3o,y (x0) = yioo,

Cr—1) Cr=1)

y (xy) = y,

7. ¥ME B

SR G 75 R W R WD TR AR A 0 8 4 ) PR Dy 490 18 9] .
Y1 ) A % R 4 Cauchy 8] /.

n S A ENMERDERTARERA
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Ey—cWRERXAFE(z—c)?+(y—c) =19, BEEBRAMD RN

= (y?+ 1%
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o =—c¢ =B34 1L BERZENHR R y = 3+ 1)(sin2x — cos2x).
B W= () REAIEF (055 5 ) = 0 e R Mlasb] LI
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B W w BARE—-ROEE,w) RRFE KNKE. NEGXGEERHN
TR A — it WA = BRE — EAHKRMAHME = 2500cal — 1 200cal,
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d 10000 ’
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1. T 506805 R B4
(1) y” —5xy’ = e +1;
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(3) dy = P 414
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.
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HEEEH.
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9. X THMFNTBDHK r E. Ry = 27 BREMRF:
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(2)y'—y=0;
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